Mutations Worksheet Name V) £ ‘}/

In each of the following DNA sequences, you will use the mRNA and amino acid sequences to identify the
mutation that occurred and the effects of each on, if any. Look and analyze carefully!

Original DNA Sequence: iT ACJAC CiT T G[G C GJA C GiA CT

mRNA Sequence: A!M& Q&(:'[ AAC C(’é “ﬁi, “jIA:

Amino Acid Sequence: 023'/' *}10 "d’ip Ci{jr - C\IS \_)40;()

i
Mutated DNA Sequence #1: T A C'A T C('r T G(G c G[a C GIA CT
What’s the mRNA sequence? (Circle the change) X >
What will be the amino acid sequence? __ /21€+ — {'5)‘/00)" asg-arg-CNS ’S-/Gﬁ
AN 4 1 d 7 T

Will there likely be effects? \/e 5
What kind of mutation is this? PCm*' / S\ bﬁ“'l *-U"’ OO

Mutated DNA Sequence #2: T A c‘g% clc T T|G 5 C,G A c|G A qT ]

What'’s the mRNA sequence? (Circle the change) )& GAA CC G COG A
What will be the amino acid sequence? /2764 — [ € ~ (i) — Fro — leo 7 '
Will there likely be effects? i)

What kind of mutation is this? /1 /5, 727.5/2/ 1~ ses 7103
|

Mutated DNA Sequence #3: T A CiA C CiT TAIGC GiA C GiA C
What’s the mRNA sequence? (Circle the change) ;
What will be the amino acid sequence? /7761 =~ 4 D - )ﬁ - ar @ = A7 S|
Will there likely be effects? /// (0} Same Gm f/)O’ ac/d

What kind of mutation is this? }D{’; y f}“)é / o 1[7 ({/(7(&/?/ € —/rx2r€ 7/ / ?674 ZL }C)tf{/ z

v
ﬁ;o

Mutated DNA Sequence #4: T A CiA C CiT TG | C G’A C I CT
What’s the mRNA sequence? (Circle the change)

What will be the amino acid sequence? _ /7 7L — Ay — LL%"“ a / -ﬂ - Stay — 5716}
Will there likely be effects? \'/ £ 5 / 5716;175 & J ! )’) "

What kind of mutation is this? Pﬂ /] ﬂ7l /CS(/b

7T t/c C?ﬁ’fl'g:/q/

4

7

Mutated DNA Sequence #1: T A C|A C ckr T Gk;’G AIC G Al' CT
What will be the corresponding mRNA sequence?

What will be the amino acid seq%e?me? /7] (’)Z 17 ’@'7 —gs e /)0 A i
Will there likely be effects?

alg

What kind of mutation is this? [ /5% S5/ = Do /407/5 o




